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Existential Sentences:
Place word/phrase+Verb+( | or 7 )+numeral+measure word+noun

e Part1:7&

There are three kinds of verbs in existential
sentences: 5. s&,and verbs signifying bodily
actions such as . A4 &% & . B

e Part2: &

When denoting existence, 45 and s&differ from each
other in that s&:suggests that there is only one, or
one type of, object or person at a particular place,
whereas & can refer to multiple objects or types of
objects/people.

e Part3: %5/ T
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Existential Sentences:
Place word/phrase+Verb+( | or 7 )+numeral+measure

word+houn
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Existential Sentences:

Part 3:5/ T

R PBE[T — A lq

BREEE/T=%KRH




e 1120725 (B R114R



PN
2

[5<f

f

AR

RAEMR

1 1

-

, MRS,

—
J

;ﬂ,ﬁﬁﬁggﬁ

—%

o



g M T AR

o






IRY 754X

R T == e

LLOWS] e




Justin Biber IBEUE AKE?




I I E AR ?




» E can sometimes mean
“truly,honestly”When used in the way, it is

often followed by the particle /.
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H(A)connects two sentences. The second sentence is a
conclusion or judgment that derives from the preceding
sentence.f Zcan be abbreviated as Hf
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